

**CALCULUS II, SUMMER 2015 - DIFFERENTIAL EQUATIONS
REFERENCE SHEET**

1. A *first-order linear ODE* is a differential equation of the form

$$(1) \quad y' + P(x)y = Q(x).$$

We say that (1) is *homogeneous* if $Q(x) = 0$ for all x and *nonhomogeneous* if $Q(x) \neq 0$ for some x . Given the initial condition

$$y(a) = b,$$

the solution of (1) is

$$y = be^{-A(x)} + e^{-A(x)} \int_a^x Q(t)e^{A(t)} dt,$$

where $A(x) = \int_a^x P(u) du$. In particular, if (1) is homogeneous, then the solution is given by the following simpler formula:

$$y = be^{-A(x)}.$$

2. A *first-order separable ODE* is a differential equation of the form

$$(2) \quad A(y)y' = Q(x).$$

Integrating both sides of (2) with respect to x , we obtain

$$\int A(y) \frac{dy}{dx} dx = \int Q(x) dx + C.$$

It then follows from the fundamental theorem of calculus that

$$\int A(y) dy = \int Q(x) dx + C.$$

Compute the antiderivatives and organize the terms to find the solution of (2).

3. A *first-order homogeneous ODE* is a differential equation of the form

$$(3) \quad y' = f(x, y),$$

where $f(tx, ty) = f(x, y)$ for all t, x , and y . The name comes from the fact that a two-variable function $f(x, y)$ satisfying the relation

$$f(tx, ty) = t^n f(x, y)$$

for all t, x , and y is said to be *homogeneous of degree n* . To solve (3), we make the substitution $v = y/x$, so that

$$y' = f(x, y) = f((1/x)x, (1/x)y) = f(1, y/x) = f(1, v).$$

Since $y' = v'x + vx' = v'x + v$, it follows that

$$v'x + v = f(1, v).$$

Consolidating the terms, we obtain the first-order separable ODE

$$\frac{1}{f(1, v) - v} v' = \frac{1}{x}.$$

4. A *homogeneous second-order ODE with constant coefficients* is a differential equation of the form

$$(4) \quad y'' + ay' + by = 0.$$

If $a = 0$, then the general solution of (4) takes the following form:

$$y = \begin{cases} C_1 e^{\sqrt{|b|x}} + C_2 e^{-\sqrt{|b|x}} & \text{if } b < 0; \\ C_1 + C_2 x & \text{if } b = 0; \\ C_1 \sin(\sqrt{|b|x}) + C_2 \cos(\sqrt{|b|x}) & \text{if } b > 0. \end{cases}$$

If $a \neq 0$, then we make the substitution

$$(5) \quad y = e^{-ax/2} u$$

to obtain

$$(6) \quad u'' + \frac{4b - a^2}{4} u = 0.$$

We solve (6) and use the relation (5) to obtain the solutions of (4). Carrying out this process, we see that the general solution of (4) takes the following form; for this purpose, we let $d = 4b - a^2$ and $k = \frac{1}{2}\sqrt{|d|}$:

$$y = \begin{cases} e^{-ax/2} (C_1 e^{kx} + C_2 e^{-kx}) & \text{if } d < 0; \\ e^{-ax/2} (C_1 + C_2 x) & \text{if } d = 0; \\ e^{-ax/2} (C_1 \sin kx + C_2 \cos kx) & \text{if } d > 0. \end{cases}$$